R 2fR%B %Y F

1145 # & B ¥ 8 & FF £13%

TP B

TEALRER
1. AZEEE A IR0 D PIREEE ZLEH R > X322 100 4 o
2. EHWHFT BH KT AT FF e REHPA E
5‘%3&4€§%€&§$$jﬁ2a1@@%@%
* 2T
3. AfEAFT IR ZTFE

o

+H

=







- ~HER(F4 45X 204)
1.(B) #¢% 5 y=ax*+bx+c > EZ: (32) > &wikdk ab,c % > A

a B5@°?

(A); (B) (C) (D)=

2.(B) 4r® (- )> AABC ¢ >£ACB=90°> AB } 7} A& E & c

F > #t8AE = AC > BC =BF ° £ 4FCE =x° > T 7|¥%— BiE I8
o FE?

(A)x =30 (B)x =45 y y |
(C)30 < x <45 (D)x = 60 F E
B (=)
3. (B) AP A* kst g LEDR E40T
Y1B®HZ F2R@ME ¥3B@ME ¥ 100 B W%

ERNY I BPRE 2R A4ARVERL  Z RIS 2RBRIE EFEI08Y
HHERNS 3R L TR 18IV ES. o HE S L PERDY 100 B
(A)10288 (B) 10300 (C) 10308 (D) 11308

4. D) % a,f 53 #7x2-3x—1=0212 > p|(a®+ B°) —3(a* + pH)=

Ba 50

(A)1 (B)9 (C)33 (D)36



5. () -l denvkin® § 34ARRII 4 2 3 BARFAF T 0 £ 6 BB o ]
AR ET A P*E*F\(&ﬁﬂ—iéﬁﬂz)ﬁ&géwv’a%’Zﬁﬁﬂ—éziaixa
v, — BEES > BFIkFEPN TTIL A B2 H T m Gk o
B - % - BB UK E R - B R R R F R T
- BRSO VEY L AETER Y- Bl c FEHEMEILL R P ;i{};q v
o T B R Y B R A E FEDT F Aok BB HT AR
o Plep RE - BERS (S «;ﬂ‘f REHS - B - fl}fj&ﬁ.\:é;{ o

RypE® R ﬁ'«&«'»% 2 F e E R E G i}%,fg?

(A)31 (B)32 (©)620 (D)640

Glde t = X v %

BRI (FHEL X 424)

L-@les= 02t g o Azl T1% 2% 3% 4% 5% 6%

BFear 2 BB o PEIERERE- il 2dnTe 2 022 BB
F e TEIenTe 2 ) 22 3B - Tz iy, 8 M
R AEE S L RN ERED S Er S SRR R S Sy
7
’lﬁ&—t RE"
2. LBER Y S FAT ML, =T =, 2SR Sl

2 3 -1

Lz""‘i'i‘j?iﬁ"i\i—%ﬂ?_;\:é.x—zzﬁ-ll-:()o(lj«_ﬂf‘} 7\7]')

3. ,J‘ i l/é'/jv—? :%\; ’ 2%%5'—‘ Q.E_ﬁ;(% X1° X2 0 Xn E?ﬂﬁ'{%mg ,ﬁﬁ:—l i;jﬁié. 15 , ﬁ:‘—
BE L 5o ] E BT EEIE TN 6B iR R & i
PR AT R RNty = —xi+7000=1,2,3,n 0 RIFTEYR oy y2o

o yn S E BT R R L hfe S 60 -



4.3% S Hd 7% L EH1,2,3, - 2000, 077 R R L
T §={1,2345,..,2000,..} ¥ S & SHE RT3, 8T
UG A R R S0P E S ST P o d ] Bl X % 2025 JE A 2070 -
(R 1%=14R 522> k)

A D
5. 4cH (= )e m A ABCD & & % 2) » FP,Q% 84 U &
AB,BC} » # @ADPQ 5 > = 425+ ¥ DP =1 | = 2
ABCD i 4% 5 228 y .
' 0
[
w (=)
6.% A(12,0) - B(05) * O %R P i AOAB N3%- B f P it 4B
1800

2 g £RG C B ¥ OPP+PCE fhliE ko o Bl k= —

A D
T.4cH (= ) $7/ABCD? ~AD//BC: * «AE =BF -  tf<gT”
-7ABCD & 4% % 48 » ACDP 3 4% 5 13 » RIAPDE '
APCF2 & fifes 22 - ;

D PEEI(FETA £ 14A)
.- B E A3 enhnf, vomBp &85 T 78 B
OF2BR &% 1THBNEX 20° > 33BN & 52BN &% 200
Sn BprELE (n—1) Bp &% 20° o
@ hn Bk khk B R 40° o
FERnE o

2.3 Fih K2026x + 115y =1 ¥ 0 <y < 1000075 E#KfE(x,y) o



e BERHKRE R (FLEIOA > 528144, X 244)

L.

(43 55) 29V Me 2enikF 42 - > BT Ehp FHE - FIS P A4
TR (z )2 o Ed e M- BERERG AT B (T )¢

Q)
Fi ARSI rIHE T4 e PR TR A
R AN A L PUERRR R MRREE T

Wz )G R ig) P iR A # ( R
) et W (1) RIDPERERG > wP R RETfELE R - (24)

2.

(2) ﬁiéﬂxi RAE > 3o st TR A ARAE 0 (2 4)

3) ﬁi—ﬂt?}*{ﬁﬂ)\eﬁcﬁiﬂl@ﬁ?{gﬁ ’ %ﬁ; ERRE S U IR S A
R S T T R D P G
AA KT RS ATRERE) A AL — 4 R T HEL, AR
TEABRAAFE Y FF- 2B o
FEHEA Y SRS S P R B RIS L B
RG] FTEP P EHGPRSECREIEY I A PTEREEE A D
B S B RS Y P e (64)

Tz g J EEYZ 47T B 2imh > BARFFRY LR

TRk KRB FLH b @ S F LS P 5 (b4 GeoGebra - fj #2 GGB)

JRE R aREEETLE

FEH Tz avadte R E A FHEEPRERFZLEFTHERL P F

e 3

(DEZ1 EAEBAR? Ry R arET e #mE (7 7 25
BH e E) PP Eini B RITRE R S it (GGB) ¢
§ R S 1 iR ER ] 2 (3 4)

(DFFRERF P BRJDEKEHFL AR o o s L F 2 Bzt
DTHE B H b (Y EERDIE) > FERIHEL "5

= B ELE §E m*r\,y_}_g s E b Bz 255 (4 v B R S 4

&) P R 2(44)
(DIEHhE 2 F R AT R EIREEH T2 68y The Pk
T A2 VIE R LA AT PR ? GRAIE =) B A)
(DFFEF S HGEFFH A L8 FEE > B R PFTE LR FE FFA
ﬁﬁ%ﬁyﬁiﬁﬁﬁ@~iw%ﬁ’iﬁﬂﬁﬂﬁﬁﬁﬁﬁﬁ°ﬂﬁ)
-4-




